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INTRODUCTION. In the Korean vlanguagie, expressing reasons or causes is a
fundamental part of sentence construction.. Various-grammatical structures, often referred to
as "reason suffixes," are used to indicaté the"Cause-or reason behind an action or situation.
These suffixes are attached to verbs, adjectives, or houns, forming essential elements in
expressing logical relationships within sentences. + = #

Reason suffixes in Korean serve to clarify Why something happens or why an action is
taken. These suffixes can be categorized based on formality and the specific nuances of the
reason being conveyed. Understanding these suffixes is crucial for both learners and
speakers of Korean, as they allow for more nuanced and precise communication.

The internal possibilities of the Korean language are vast. It is possible to express any
meaning and content in various ways, in the manner of one's choice, with great diversity. In
particular, the expression of causality appears in different forms.
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Cause and effect are terms that express the general, necessary relationship between
events and phenomena. In a chain of events, the cause is the event that leads to another
event, and the resulting event is called the effect.

The relationship between cause and effect is known as causality. Firstly, the cause
precedes the effect, and secondly, it is the factor that brings about the effect, serving as a
necessary condition for its occurrence.

LITERATURE REVIEW

The article "Causal Suffixes in the Korean Language™ by Dr. Kim Min-ju focuses on
studying the role and functions of causal suffixes within the grammar system of the Korean
language. The author examines causal suffixes in Korean, primarily as morphological units
used to express causality. It illustrates how these suffixes function to link cause and effect,
paying particular attention to the unique grammatical system of the Korean language.

RESEARCH METHODOLOGY

The usage of each causative suffix. :

Lexical-semantic analysis — identifying'the-similarities and differences in the meanings of
terms.

As research materials, scientific ~articles=.on _Korean linguistics and international
terminology sources were used as the basis.

RESULTS

A/V-0}/0{ A grammar = (1) and/ (in order) to, (2) because (of)/ so that

/-0t M/-04M/-81 M: Used to describe the state of condition or action that caused the

result. This is the most common form to deseribe-the causal state or action that happened in
the past.

1. BFLEA BHZE&LICE Nice to meet you.
2. =0{A Z[EEFLICE 1 am sorry for arriving late.

3. M7 IFEESH A 7|2 0] £0L2 | feel good because the weather is warm.

It should also be noted that in Korean, the suffix ‘go’ functions similarly to the suffix 'aso’
in terms of translation. However, their usage patterns differ from each other.

Comparison between V-1 grammar and V-OF04 A grammar :
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1. They have the same meaning = “and” in English. But V-O}/0{A{ grammar is used

when the 2 actions are closely related, while V-I1I grammar is used to connect two unrelated
actions that happen sequentially.
IHUS oM (T THU2) Ho{L. | wash the fruit and eat (the fruit).

U2 M (CHE S AI2) Ho{L. | wash the fruit and eat (something else)

2. When verbs designate the wearing of clothes and accessories, V-11 is used instead of
V-0}HO04{ A

AMBEO| 242 AT 7+, People are putting up their umbrellas and going.
orFE M1 ME BLQ | wear glasses and read books.
N [HE0fl, NOIZ| 2 0il, A/V-Z| I E01l grammar.= because (of), since, due to

The grammar structures N [ £ 01|, NO| 7] [ F oi;-A/V-7| I 2 01| in Korean are used to

express the reason or cause of a situation. These-structures are similar to "because of" or
"since" in English. Here's a breakdown of their usage, examples, and distinctions.

1. 7| 201l — Expressing a reason or-cause (general use)
Used to express a reason or cause for a situation"like “because of” or “due to.”
N7 £7| HE0] fEl= S&ol ZIO‘IO \We went to the park because the weather

was good. This shows that 7| [H20{Ncan be.used with adjectives and verbs to give a

reason.
2. Cannot be used in imperative Sentences (commands) or propositive sentences
(suggestions)

7| i E0dl cannot be used to make commands or suggestions.

LT HLF 2 E2 04M|L2. (Correct usage: L7t instead of 7| HE01l) 1t’s too hot,
so please open the window.
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LI M7 Z22L77 &Hofl ZE AlCH (Correct usage: L7t instead of 7| [HE0{) The
weather will be good tomorrow, so let’s go to the mountain. In both cases, 7| [IHE 0
cannot be used for commands or suggestions. Instead, -L-{7} is used.

3. N [ 0fl — When a noun is the cause or reason in the sentence. Used when the noun is
the cause or reason of the sentence (not the subject).

H| 201 B717F FAE[R10{L2. The game was canceled because of the rain. Here, H|
(rain) is the noun and is the cause of the game being canceled.

4. NO|Z| 201 — When the noun itself is the subject and the cause. Used when the
noun is the subject of the sentence and is the reason.

st 0|7 EN SAE sfok =HR. Because | am a student, | have to do my

homework. In this case, &4 (student) is.both the-subject and the cause of needing to do
homework. A

5. HLESHEH ... 7| 2 O|C — Emphasizing the reason or cause. @HLESHH is used to
emphasize the reason or cause, where the result comes first and the explanation follows with
7| =2 olct |

KMe 25 Hofl 2012, kst LH-AIZI0) 27| 2 0[01L. I'm staying home

today. Because | have a test tomorrow. Hefe, the result (staying home) is introduced first,
and the reason (having a test tomorrow) is explained afterward.

N [ 201 (because of the noun), OFOPHE o1l (because of the baby), &= [H-E 01l (because
of the snow), NO|Z| [ 201 (because the subject is...), = 40|7| [HE 04| (because | am a
student), 2|=210|7| {20 (because | am a foreigner), A/V-7| [ E 04| (because of the
adjective/verb), Z7| [Z 0| (because it is good), OF2HIO|EE 5t7| IHE 0] (because |
have a part-time job).

1. & M E0oi 2ol O/11242/ 2. The road is slippery because of the snow.

2. 8 20l MM= 0] 37} LEA10{2. The teacher got angry because of the student.
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3. 00| I E 0 B2 R H0o{L. | can't eat because of the baby.

AN+()L|TJL This suffix has many different usages. It can be used to express a reason

for an action or state. It has the same meaning as 'since’ or 'because'.
The subordinate clause (first clause) expresses the reason, and the main clause (second

clause) expresses the result.If there is no 2F& or if the stem ends witha 2 2& - A/ V
+L|7k is used. If there is a BF & at the end of the A/V. stem - A/ V + S L7} is used.
QICH — el L7}, HtBECE — HE B L[ BfAo|Ct et O] L7, Tt — ot L7t ECt -

EoLt, Bt - FLU. ()L ean also/combine with the past tense marker to
describe a past event or state.

1) @& H|7} Btol @u7F BrLEXR] BFAJEE Let's not meet today because of the heavy
rain. i

2) L7t & Mo L] 77k LH7F Atk = A It was-my-mistake, so I'll apologize.

3) EHIE Z|L|77t 7|2 0| E0} X104 2. I feel better because of smoking.

A/ V+C{L|  This grammar is also translated as because of. in addition the second

meaning of this suffix is "but now, and then, and now".we will examine these two meanings
in the following examples:

1)Sdo| FAs| SESHL MECHE ol S A0, My younger brother studied
hard and got into Seoul National University.
2)0t0|7t ofO|A T & 2 EFO| HE{ L HiEF O] Lk Z3°Z 0t 2. My child ate too much ice

cream because | think he has a stomachache. This'pattern is used for the speaker to talk
about something they either directly saw or experienced in the past about someone else as
the reason cause are consequence for what happens in the final clause

1. Xk 7420l= =0[HE ¢t 2L O|Hof|l= B ol 2U[L. It hardly snowed at all
last winter, but this year it's snowed a lot.
2. K|t Fatolle & CU] O|HF = [H5E L. Last week it was cold, but this week

has been warm.
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V/IA/N+7{E . This grammar pattern has several usage. It is used in the first clause for

giving an explanation by saying you are stating a fact and further continue with the second
clause you will elaborate more about. Letting something be known, denying something,
used for setting some facts and is often used when someone is being defensive, or to let the
other person know something. It can't be used in the first clause of a new conversation in

response to an initial statement. 7{E (L) lets the listener know that the speaker wants to

continue with the explanation after stating a fact. You can listen to the several dialogues in
drama or movie for the comprehensible understanding with the help of the context, since the

usage maybe quiet difficult to grasp just by reading-some blogs on the usage of 7H{ER

Adjective/ Verb -7HE 2 (Present tense) /- 4/RATHE 2 (Past tense) / -(2) 2 7HE L (Past
tense). If the case of present tense : Irrespective of Whether the adjective or verb stem ends

with a consonant or vowel 7{E 2 has to he attached after dropping Ct from the root word.
In the case of past tense : If the stem ends Wlth 2-or-0f then Y 7{E R is used otherwise
RHE L is used. In the case of future tensé < If-the stem ends with a consonant then
27HE L is used and with the stem ending with vowel* 2 7HE L is used. We can see some
example sentences related to the different usage of ZCF~ As Z7{E R in present tense,
Z7HE L in past tense and £ HE L in future tense.

1) HA MH|A T} EHE oF £7{E S\ The bus service is not very good.

2) 47| 2Bk st HeHERIE, ME d7(7h FLIIER. My parents wanted me to
quit acting, but I liked it. ‘
3) ool EXIE FAIE Z0| 7HE £ ESR. It's probably best to text me.

Noun - (O)7HE L (Present tense) / -RI7{E L (Past tense). Irrespective of whether the
noun ends with a consonant or vowel O|7{E 2 has to be attached after the noun in the
present tense and -2 7{E 2 in the past tense. 4 - st MO|HE LS.
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Present Tense : A7t &4 £ X|EHe 18 40| ELR. I'm always the most diligent
student.

Past Tense : M7} M2Cistw ST MAHESR. | was a student at Seoul National
University

2) AR - ULAUO|IHER

Present Tense : OFA|CHA|L], 8% 62 UL UO|HESL. As you know, August 6 is
Sunday. .

Past Tense : K|t 2ol MURHE 2. It was,my birthday last weekend

A/N+0}F0{AM ZLRAX| Perhaps because. This pattern Verb/ Adjective stem + 0}/04/04 A
X[ is used to give possible reason to explain some situation. This pattern has a past
tense form: Verb/ Adjective stem + OHO04/04 A 1=K,

1)E= AtEroloiM O X| of2 &4E FotallR. (1) like spicy food maybe because
() am Korean.

2)gAlo| S45tH SHM X *740|7P Q=02 2012, Sukgyong didn't come
today - may be because (you) upset her.

3)Q& 7|0 X EMIE M“‘"*oH:IIO. It is chilly - may be because the

seasons are changing recently. Difference between OHOM'I J=AX| and =/(2)L K| for
guessing causes or reasons

OtM/04{AM K| is used for an event or:state that really happened or is. The sentence
71, oAl HIZF &M K| M 7F ZUIL .7, implicitly says it is true that it was raining
the day before. T, “=0| Oil{A T K| HRFE0| BIX| EHE EO0FHL.” it also says
QIX| actually has pretty eyes. “-OtA{/0{A ZZZX|” is, therefore, guessing an event that

really happened or a state that really is to be a cause or reason of something.
Meanwhile, simple -=X|/(2)L K| is guessing an event or state that may be happening

or have happened or been to be a cause or reason of something. The sentence L, “A{E30]|

Volume 2 Issue 5 [February 2025] Pages | 441


https://spaceknowladge.com/

JOURNAL OF INTERNATIONAL SCIENTIFIC RESEARCH
Volume 2, Issue 5, February, 2025 Online ISSN: 3030-3508
https://spaceknowladge.com

HI7} £t=X] B 0] 0] QUIL.”, doesn’t tell us whether it really rained or not during last
dawn. The sentence 2 is the same. It doesn’t tell if the weather is really cloudy.

V+ &= HFEH0Il To express an unexpected reason that cause to the first clause negatively

influences the consequence of the second clause.
Some examples sentences :

1) EiZ0| 2= HiEol| HIAZ|7F F& F0o{. The flight was canceled due to a
typhoon.

2) ElL|A x| BFZHol 20| O} Bt0{2 My h.ands hurt from playing tennis.
There are suffixes with the same meaning as this suffix, they are as follows
AMEE0| ot [HE= Hi ol st TSt S & =7t QIACk
MEE0| ot [HEE S0l ElF st EHSE & 7t AT
MEEO| st [HEOIM T35t LSt & &7+ BIRIT
MEE L2 =ata Xzt of 71| Lheteh
®)

MEE L 5ol X|Zt 2

—_

o 7HR[1T LI 2EEE

MEe] L2 LHHX| X[ZFE oF 7HR| 1 gt &k

Z2H, “since ~,” second, -(L)CrZEH, “because it is said ~,” and third -(L)CtZ|0d,
“because it 1s said ~.” |

1)V+Z2H means, “since, so, because.” Youwuse this grammar to indicate that you took
the next action based on the previous content. In addition, this is a colloquial expression.
When you use -Z2H, “since,” in a declarative, sentence, the subjects of the preceding and
following clauses are different. Usually, it is common to have the second or third person in

the preceding clause and the following clause in the first person, “I.” For example,OFO|7}
A< Ao 44l LH7E H 042, The child was still sleeping, so | woke him up.

2)V+(L/=)CHEH means, “because it is said ~, because (people in general) said ~.”

This expression indicates what you heard from someone else as the reason or basis of your
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action. In other words, you can express that “I” did something based on what I heard. Like

the first grammar, -Z2H, this is also a colloquial expression. And the subject that follows
this word is also mainly the first-person pronoun, “I.” For verbs, you add -L_Ct-Z2H if a
verb does not have a final consonant. For example, 7}Ct “to go” does not have a final
consonant. So, you add -L-CFZ2H to make ZFCHZEH “since (he) said (he) would go.” And
you add -=C}FZ2H if a verb has a final consonant. For example, ®{C} “to eat” has a final
consonant. So, you add =CtZ&2H to make F=ChZ 2 “since (he) said (he) would eat.”
Next, for adjectives, you add -C+-Z 2H regardless of a final consonant. Wow!! Easy Breezy!
Finally, for nouns, you add -(O|)2FZ2H.

OFE Z17 2 LY #IctZe] 2ol ietoll =21 7tZ|2 RECE Since my friend just said
that she would take a day off, we decided to gb to the beach together.

3)V -(L/=)CE7[0d “because (it is) said ~, because (people) said ~.” You can replace -
(L/=)CHe with -(L)CEZ|0d. They both same_meaning. However, -(L.)CHZ2H is a
colloquial expression while -(L)CFZJofl is more Written expression. -(L)CH7 [0l means,
“because it is said that ~,” and you add, this grammar to verbs and adjectives. You add -
(ON2kZ10dl to nouns. Since its usage isthe same as'-(L-)CH-ZEH, which you previously
learned, | will go ahead and apply this rule in sample Sentences.

{50l 2= ez = 2CkZ|esLi7F Zed2km RUCH Since my sister said that
she would come today, | said do whatever you want to do.

AN-(2)BE= grammar = because, sincey for ~express the cause or reason for the
following clause, is used to indicate the cause or reason for the following clause. = because,

as, since. A/V-(2)E = is mainly used in writings and formal situations such as speeches
and presentations. It can be replaced by -(2)LI7} grammar, -7| [HE 01 grammar, or -

04/0k A{ grammar
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1. HE {utsIic o2 XHES = Zd0| ISt It is natural to be punished for
violating the law.

2. 52 1ol 222 FdE sHok 8Tt Because smoking is harmful for
health, you must stop smoking.

N-(2)Z ©@Ial{(AM) grammar = due to, because of ~express the cause or reason of a
situation or event. (2)& I3l is used to indicate the cause or reason for a situation or event

= due to, caused by, as a result of, because of. (2)Z !5l is used with not only negative

L—

meaning (like =2+, = &0, and &= HFZ 0l = due to) but also positive meaning (like

S £20{ and 20| = as a result of, thanks. to, because of). The expression is often used in
formal situations such as writings, news reports, and presentations.

1. AHsxte| B712 Q& th7|12 Y 22X 7F Azt Rl T Q)& LICH Due to the increase
of cars, air pollution problem is getting serious.

2. YBIBE AL = Qs m7|el gol I M= Q&LICH Due to the usage of
disposable goods, amount of waste is increasing largely.

3. Zx7| LHEl E2 2 Qlsl Zo)/Brol 2T The road is heavily stuck due to the
sudden snow.

DISCUSSIONS AND CONCLUSION

In Korean, causative suffixes are an‘essential part of the syntax system, widely used to
express cause-and-effect relationships in\sentence structure. These suffixes allow for the
clear and concise expression of reasons, establishing logical and semantic connections in the
sentence. Causative suffixes in Korean are divided into several types: some are specifically
designed to indicate a clear cause, while others may change depending on the overall
structure of the sentence. These suffixes help language learners not only understand
grammar but also gain a deeper insight into Korean culture and thought patterns. Therefore,

causative suffixes remain one of the key elements in studying the complex and rich structure
of the Korean language.
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